MARVIN

Replacement
Parts

Specifications and technical data are
subject to change without notice.

Numbers listed in () parentheses are
metric equivalents in millimeters rounded
to the nearest whole number.

Suggested fasteners are not included and
must be ordered separately.

[llustrations are not to scale.

Vivid Inswing French Door

Contents
PrOAUCT HISTOTY ..ttt ettt b ettt a st b et s bbb et e s et s et ebene e 2
Vivid Usage in OMS RE@I1......cooueuiuiiiiiiiiicce ettt 3
Part Identification - Single Panel - STatioNary ...t 4
Part Identification - Single Panel Operator with SWinging Screen........ccceoiiiiiiicecceeceeeen 5
Part Identification - XX Operator with SWiNging SCreen ...ttt 6
Part Identification - 2 Panel Operator XO/OX with Sliding Screen ... 7
Part Identification - 2 Panel Stationary = OO ..ottt 8
Part Identification - Operator - 3 Panel Jamb Details ........cooviiiiiiiiiiiccccccceeeeeeeeees 9
INSTAIIATION PAITS ..ottt ettt ettt 10
HANAIES <.ttt 11
HINge HandiNg LOCATION ....uiiiiiieiie ettt 17
HINGES .t 18
LOCKING HAIAWAIE ...ttt se s 19
MISCEIIANEOUS PAIS ...ttt 23
FASEENEIS ..ttt e 24
ATUMINUM PATES .ottt ettt ettt 25
VINYE PAIES 1.ttt h ettt b bbb st b e bt b et n bbbt n et nenes 27
WWEATNET ST ..ttt ettt ettt 28
Weather Strip: Dust Blocks/Seals/PIUgs.......c.ciiiiiiiiiiiciiiiiccttneectteeee e 29
Swinging Screen Replacement - Configured Part in OMS ..........ccooiiiiinnnnerees 30
SWINGING SCrEEN PAItS ...ttt 31
Sliding Screen Replacement - Configured Part in OMS .........cccoiiiiinnnre e 37
SHAING SCrEEN PArS.....iiiiiiiiiiiirecc ettt ettt 38
Panel Replacement - Configured Part in OMS ... 41

Vivid Inswing French Door



Return to Contents

Produced Unit Type Features and Changes
2025 Inswing French Door | 09/29/2025: Introduced the Vivid Inswing French Door.

Y
O
Q.
-
O
Q
L
%
24
©)
<

2025-08-25 Vivid Inswing French Door


file:T:\Parts%20Manual\PARTS%20MANUAL%20REDESIGN\InDesign%20Testing\Test_A_PNs_Diffuser.indd

Return to Contents

Due to shared components, Vivid door parts are listed in OMS under the
Vivid product line and Infinity doors in the product dropdown list.

All Parts

Lize the fields helow Io find o part. Enter search valuoes, then click Senrch
Froduct Line Froduct | INFINITY BIFOLD DOOR
Part Mumber intin: | INFINITY BI-FOLD DOOR

INFINITY INSWING FREMNCH DOOR
The: following parts match the seach cnlesa you enterd INFINITY SQUTSWING FRENCH DR
INFINITY SLIDING FRENCH DOCR

TRECIRIFTWS O F IFSIR B AT Pu™©us

Type Filter

<
=.
Q
(-
wn
Q
Q
D
=
O
<
W
0
)
@
Q.

2025-08-25 Vivid Inswing French Door 3


file:T:\Parts%20Manual\PARTS%20MANUAL%20REDESIGN\InDesign%20Testing\Test_A_PNs_Diffuser.indd

Return to Contents

Head Jamb/Jamb Weather Strip, V2350

Sill Weather Strip, V2026

Stationary Panel/Sill Retainer, V2460

Sill Liner, V2736

Stationary Panel Clip

Hinged Head Jamb Nailing Fin/Drip Cap, V119
Hinged Jamb Nailing Fin, V104

Noouswn =

=

-
o)
o
o
D
>
=
=
0
Q
=,
O
>

|
8
>

Q
@D
e
o)
>
®

|
w
—
)
=
O
>
[
-
<

Head Jamb and Sill

Jambs - O

2025-08-25 Vivid Inswing French Door 4


file:T:\Parts%20Manual\PARTS%20MANUAL%20REDESIGN\InDesign%20Testing\Test_A_PNs_Diffuser.indd

Return to Contents

Head Jamb/Jamb Weather Strip, V2350
Sill Weather Strip, V2026
Sill Liner, V2736
Screen Vinyl Sweep
Swinging Screen Bottom Expander
Head Jamb Screen Z-Bar, A1308
Jamb Strike Plate
Interior Handle
9. Adjustable Hinge
10. Jamb Hinge Screen Z-Bar, A1308
11. Exterior Handle
12. Jamb Latch Screen Z-Bar, A1308
13. Multi-Point Lock
14. Hinged Head Jamb Nailing Fin/Drip Cap, V119
15. Hinged Jamb Nailing Fin, V104
16. Pile Weather Strip, (Swinging)

©NOo A WN =

Head Jamb and Sill

-
Q
3
Q
D
S
=
=
O
Q
=
©)
S

|
o4
S

Q
M
o
Q
S
D
@)

ES)
0
-
Q
@
O
Y
=
=
>
w
=
S

Q
S

«Q
wn
O
-
)
0
S

Jambs - X -R

2025-08-25 Vivid Inswing French Door 5


file:T:\Parts%20Manual\PARTS%20MANUAL%20REDESIGN\InDesign%20Testing\Test_A_PNs_Diffuser.indd

Return to Contents

Head Jamb/Jamb/Astragal Weather Strip, V2350
Sill Weather Strip, V2026
Sill Liner, V2736
Screen Vinyl Sweep
Screen Bottom Expander
Head Jamb Screen Z-Bar
Adjustable Hinge
Interior Handle
9. Multi-Point Lock
10. Secondary Strike Plate
11. Jamb-Hinge Screen Z-Bar
12. Screen Astragal
13. Astragal Cap, A2815
14. Astragal Base, A2571
15. Exterior Handle
16. Hinged Head Jamb Nailing Fin/Drip Cap, V119
17. Hinged Jamb Nailing Fin, V104
18. Pile Weather Strip, (Swinging)

©NOo A WN =

Head Jamb and Sill

-
)
s
Q
()
5
=
=5
0O
)
.
O
5

|
P
>
O

O
()
-
)
e
O
-
=3
=
>
w
=
5

Q
-

(@]
w
0
-
D
Q)
>

2 Panel Jambs - XX - L

2025-08-25 Vivid Inswing French Door 6


file:T:\Parts%20Manual\PARTS%20MANUAL%20REDESIGN\InDesign%20Testing\Test_A_PNs_Diffuser.indd

Return to Contents

1. Head Jamb/Jamb/Mull Post Weather Strip, V2350
2. Sill Weather Strip, V2026
3. Sill Retainer, V2460
4. Sill Liner, V2736
5. Screen Roller Guide, V2932
6. Head Jamb Screen Track, A1237
7. Interior Handle
8. Hinge
9. Stationary Jamb Retainer, V2547
10. Mull Post Base, A2571
11. Mull Post, A2567
12. Exterior Handle
13. Multi-Point Lock
14. Hinged Head Jamb Nailing Fin/Drip Cap, V119
15. Hinged Jamb Nailing Fin, V104
16. Pile Weather Strip (Sliding)

Head Jamb and Sill

-
@)
3
Q
()
5
=
=5
0
o)
=
O
5

|
N
Y,
@)
5
@
O

O
()
-
)
e
O
-
Pl
O
S~
O
P
=
=
>
S8
o
>

(@]

w
0
-
()
Q)
>

2 Panel Jambs - XO - R

2025-08-25 Vivid Inswing French Door 7


file:T:\Parts%20Manual\PARTS%20MANUAL%20REDESIGN\InDesign%20Testing\Test_A_PNs_Diffuser.indd

Return to Contents

Head Jamb/Jamb/Mull Post Weather Strip, V2350
Sill Weather Strip, V2026

Sill Retainer, V2460

Sill Liner, V2736

Panel Clip

Stationary Jamb Panel Clip

Mull Post, A2567

Mull Post Base, A2571

Stationary Jamb Retainer, V2547

Hinged Head Jamb Nailing Fin/Drip Cap, V119
Hinged Jamb Nailing Fin, V104

=

SOV NOUR WD =

_

Head Jamb and Sill

-
Q
3
Q
D
>
=
=
O
QO
=,
O
5

[
N
U
Q
>
©
w
—
Q)
.
O
>
Q
)

<

[
O
O

2 Panel Jambs - OO

2025-08-25 Vivid Inswing French Door 8


file:T:\Parts%20Manual\PARTS%20MANUAL%20REDESIGN\InDesign%20Testing\Test_A_PNs_Diffuser.indd

Return to Contents

3 Panel Jambs - XOO - R 3 Panel Jambs - OO0

Jamb Strike Plate

Screen Stop Astragal Base, A362

Screen Stop Astragal Cap, A361

Stationary Jamb Retainer, V2547

Interior Handle

Exterior Handle

Astragal Cap, A2815

Astragal Base/Mull Post Base, A2571
9. Jamb,Head Jamb, Astragal/Mull Post Weather Strip,V2350

10. Multi-Point Lock

11. Adjustable Hinge

12. Mull Post, A2567

13. Panel Clip

14. Hinged Jamb Nailing Fin, V104

15. Pile Weather Strip (Sliding)

©NOo A WN =

A
Lz

3 Panel Jambs - OXX -R \@

-
o)
s
Q
()
5
=
=
0
)
.
O
5

|
O

O
©)
Q
Q
O

|
w
U
)
-
@
[
)
3
O
U
)
o
QL
n

2025-08-25 Vivid Inswing French Door 9


file:T:\Parts%20Manual\PARTS%20MANUAL%20REDESIGN\InDesign%20Testing\Test_A_PNs_Diffuser.indd

Return to Contents

Primary Installation Kit (all units) Operator Installation Kit, X, XO/OX,XX, XOO/
Includes: 00X, OX0O, XXO/OXX

1 - General door installation instructions Includes:

1 - Vivid Inswing Installation 5 - #8 x 2 1/2” Phillips flat head screws, Stainless Steel — 11800648 (c)

1 = Sliding screen dust block - 10500161 (a)

1-#8x 2 1/2" Phillips flat head b - 11805165
12-#8 x 3" Phillips pan head screws, pearl white -11800829 (b) x21/ Tlips iat head screws, brass (c)

PN PN
11800011 11898925

S
0
24
QL
)
=
©)
S
5
o)
S
3
o

2025-08-25 Vivid Inswing French Door 10


file:T:\Parts%20Manual\PARTS%20MANUAL%20REDESIGN\InDesign%20Testing\Test_A_PNs_Diffuser.indd

Return to Contents

Cambridge Primary Handle Set, Exterior Cambridge Primary Handle Set, Interior
Includes: Includes:
1 - Exterior handle 1-Z-Clip 1 - Interior handle 1 -Spindle
1 - Exterior escutcheon 1 - Z-Clip screw 1 - Interior escutcheon 1 -Thumb turn
1 - Hardware gasket 1 - Keyed cylinder 1 - Spring cassette 2 - M5 x 58 machine screws
2 - Keys
Part numbers used for Inswing
Part numbers used for Inswing Color XX, XO/OX, OOé()/())((OO, OXO, XX0O/
XX, XO/0X, OOX/X00, OXO, XXO/
Color OXX X-LPN X-R PN
X-LPN X-RPN Stone White 11869210 11869209
Stone White 11868031 11868019 Satin Nickel PVD 11869109 11869104
Satin Nickel PVD 11868029 11868024 Oil Rubbed Bronze PVD 11869110 11869105
Oil Rubbed Bronze PVD 11868030 11868025 Matte Black 11869149 11869169
Matte Black 11868069 11868068

(10)

0

so|pueH

s

)

TN

XX-R, X-R shown

XX-R, X-R shown

2025-08-25 Vivid Inswing French Door 11


file:T:\Parts%20Manual\PARTS%20MANUAL%20REDESIGN\InDesign%20Testing\Test_A_PNs_Diffuser.indd

Return to Contents

Cambridge Secondary Handle Set, Exterior Cambridge Secondary Handle Set, Interior
Includes: Includes:

1 - Exterior handle 1 - Interior handle

1 - Exterior escutcheon 1 - Interior escutcheon

1 - Hardware Gasket 1 - Spring cassette

NOTE: Escutcheon width 1.350” 1-Spindle

2 - M5 x 58 Machine screws

Color XX-L Inswing PN XX-R Inswing PN Color XX-L Inswing PN XX-R Inswing PN
Stone White 11868032 11868037 Stone White 11869222 11869227
Satin Nickel PVD 11868044 11868049 Satin Nickel PVD 11869124 11869129
Oil Rubbed Bronze PVD 11868045 11868050 Oil Rubbed Bronze PVD 11869125 11869130
Matte Black 11868070 11868071 Matte Black 11869150 11869159

(10)

so|pueH

)

9

XX-L shown XX-L shown

2025-08-25 Vivid Inswing French Door 12


file:T:\Parts%20Manual\PARTS%20MANUAL%20REDESIGN\InDesign%20Testing\Test_A_PNs_Diffuser.indd

Return to Contents

Northfield Primary Handle Set, Exterior Northfield Primary Handle Set, Interior
Includes: Includes:
1 - Exterior handle 1 - Interior handle
1 - Exterior escutcheon 1 - Interior escutcheon
1 - Hardware gasket 1 - Spring cassette
1-Z-Clip 1 - Spindle
1 - Z-Clip screw 1 -Thumb turn
1 - Keyed cylinder 2 - M5 x 58 machine screws
2 - Keys
Color PN
Color PN White 11869152
Satin Nickel PVD 11869164 QOil Rubbed Bronze PVD 11869155
Oil Rubbed Bronze PVD | 11869165 Matte Black 11869160
Matte Black 11869168
(0)

@

so|pueH

2025-08-25 Vivid Inswing French Door 13


file:T:\Parts%20Manual\PARTS%20MANUAL%20REDESIGN\InDesign%20Testing\Test_A_PNs_Diffuser.indd

Return to Contents

Northfield Secondary Handle Set, Exterior Northfield Secondary Handle Set, Interior
Includes: Includes:
1 - Exterior handle 1 - Interior handle
1 - Exterior escutcheon 1 - Interior escutcheon
1 - Hardware gasket 1 - Spring cassette
1 -Spindle
2 - M5 x 58 machine screws
Color PN
White 11869182
Satin Nickel PVD 11869184 Color PN
Oil Rubbed Bronze PVD | 11869185 White 11869172
Matte Black 11869190 Satin Nickel PVD 11869174
Oil Rubbed Bronze PVD | 11869175
Matte Black 11869180

()

0 c \

D)

so|pueH

(o

2025-08-25 Vivid Inswing French Door 14


file:T:\Parts%20Manual\PARTS%20MANUAL%20REDESIGN\InDesign%20Testing\Test_A_PNs_Diffuser.indd

Return to Contents

Escutcheon Plate Screws Keyed Cylinder with Keys
NOTE: 1-M5 x 58 machine screw

Includes:
2 - Keys
Color PN NOTE: Schlage cylinder
White 11805188 ) NOTE: For keyed alike cylinders, please contact your Marvin representative.
Satin Nickel 11805190 Please supply the original order number if possible.
Oil Rubbed Bronze PVD | 11805191
Matte Black 11805143 Color PN
Brass PVD | 11860963
T
)
>
Q
)
n
Spring Cassette Z-Clip
Includes:
PN o F
11860960 - Fasteners

NOTE: Used on both Cambridge and Northfield hardware

PN
11860967

2025-08-25 Vivid Inswing French Door 15


file:T:\Parts%20Manual\PARTS%20MANUAL%20REDESIGN\InDesign%20Testing\Test_A_PNs_Diffuser.indd

Replacement Washers

PN
11860964

Thumb Turn Clip

PN
11860972

2025-08-25

Return to Contents

Split Ring

PN
11860966

Spindle

PN
11860962

Vivid Inswing French Door

so|pueH

16


file:T:\Parts%20Manual\PARTS%20MANUAL%20REDESIGN\InDesign%20Testing\Test_A_PNs_Diffuser.indd

2025-08-25

[E—

LH Inswing

Return to Contents

NOTE: Always view units
from the exterior for handing.
H=Hinge location

X-LH Inswing X-RH Inswing
This panel uses the This panel uses the
left hand hinge right hand hinge

Vivid Inswing French Door

L — 1

RH Inswing

—
S
«Q
)
T
)
)
Q-
)
(@]
—
O
O
Q
=
O
>

17


file:T:\Parts%20Manual\PARTS%20MANUAL%20REDESIGN\InDesign%20Testing\Test_A_PNs_Diffuser.indd

Adjustable Hinge Kit

Includes:

3 - #8x 5/8" Phillips flat head screw - into jamb
8 -#8x 1 1/2" Phillips flat head screw - into panel
2 - #8x 2 1/2" Phillips flat head screw - installation into jamb

NOTE: All screws are color matched

NOTE: 1 hinge per kit/3 hinge kits per panel

Color LH (X-L) RH (X-R)
White 10880101 | 10880100
Satin Nickel PVD 10880105 | 10880104
Oil Rubbed Bronze PVD | 10880107 | 10880106
Ebony 10880117 | 10880116
7

L

>

0 (@]

D

@ n

D)

RH shown

2025-08-25 Vivid Inswing French Door 18


file:T:\Parts%20Manual\PARTS%20MANUAL%20REDESIGN\InDesign%20Testing\Test_A_PNs_Diffuser.indd

Return to Contents

Active Multi-Point q Special Size Active Multi-Point
Includes: ! Includes:
1 - Lock assembly with faceplate, deadbolt, latch and shoot bolts 1 - Lock assembly with faceplate, deadbolt, latch and lower shoot
11 (13 on 8/0) - #8 x 1 1/2" Phillips flat head Stainless Steel screws ﬁ bolts
2 -#8-15x 2 1/2" Type AT/F, 2/3 thread, Stainless Steel screws 1 - Top shoot bolt extension
'l 12 - #8 x 1 1/2” Phillips flat head Stainless Steel screws
Ej 2 -#8-15x 2 1/2" Type AT/F, 2/3 thread, Stainless Steel screws
CN Color PN 0:
6-5 11896701 3 Color PN
6-8 Stainless | 11896702 @ @ Stainless Steel | 11895701
7-0 Steel | 11895700 .
8-0 11896703 @

—
©)
O
ay
S

Q
T
@
Q.
2
D)
M

Special Size Inactive Multi-Point

Includes:

1 - Lock assembly with faceplate and lower shoot bolts
1 - Top shoot bolt extension

Inactive Multi-Point

Includes:

1 - Lock assembly with faceplate and shoot bolts
11 (13 on 8/0) - #8 x 1 1/2" Phillips flat head Stainless Steel screws

. 12 -#8 x 1 1/2” Phillips flat head Stainless Steel screws
"1
CN Color PN v
6-5 11896704 0 ﬂ Color PN
6-8 Stainless | 11896705 g b Stainless Steel | 11894701
7-0 Steel | 11894700 8
8-0 11896706 —p—

2025-08-25 Vivid Inswing French Door 19


file:T:\Parts%20Manual\PARTS%20MANUAL%20REDESIGN\InDesign%20Testing\Test_A_PNs_Diffuser.indd

Return to Contents

Multi-Point Lockbox, Active Multi-Point Lockbox, Passive
PN PN
11896707 11896708
ﬂ @
8
4
@ @H
2

—
O
O
2
S

Q
I
Q
o
2
I
)

2025-08-25 Vivid Inswing French Door 20


file:T:\Parts%20Manual\PARTS%20MANUAL%20REDESIGN\InDesign%20Testing\Test_A_PNs_Diffuser.indd

Return to Contents

Head Jamb/Sill Strike Plate - XX Strike Plate, Secondary Lock
Color PN Configuration Color PN
Stainless Steel | 11862584 XX-R, OXX-R, XXO-R | Stainless Steel | 11896560
XX-L, OXX-L, XOO-L | Stainless Steel | 11896559
Suggested Fasteners Color PN
Suggested Fasteners PN 1- 4mmr;<a1c<?]rir;r:;orrexvjlat head Stgitzleelss 11805183
For Sill 4 - #8 x 5/8" Phillips flat head 11805180
or Ji Stainless Steel screws 1 -4mm x 8mm Torx flat head Stainless 11805181
2-#8 x5/8" Phillips flathead | ;o000 machine screw Steel
Stainless Steel screws 1 - 4mm x 35mm Torx flat head Stainless 11805184
ForHead Jamb 8 x 2 1727 Phillips flat head machine screw Steel
Stainless Steel screws 11800648 XX-R shown
—
O
@)
X
D)
«Q
T
Q
. . . Q.
Strike Plate, Locking Jamb Head Jamb Strike Plate =
Q
— — ®
Configuration Color PN Configuration Color PN
X-R, XO-R, XOO-R | Stainless Steel | 11860337 O X-R, XO-R, XOO-R . 11862580
- Stainless Steel
X-L, OX-L, OOX-L | Stainless Steel | 11860338 X-L, OX-L, OOX-L 11862581
Suggested Fasteners Color PN N Suggested Fasteners PN
2—#8>$5/8 Phillips flat head Stainless Steel | 11805180 2—#8>$5/8 Phillips flat head 11805180
Stainless Steel screws Stainless Steel screws
1-#8 x 2 1/2" Phillips flat head 3 2 - #8 x 2 1/2” Phillips flat head X-R shown
HOX lipsTlat head | g1 inless Steel | 11800648 HOX lips Tlat head | 41800648
Stainless Steel screws X-L sh Stainless Steel screws
-L shown

2025-08-25 Vivid Inswing French Door 21


file:T:\Parts%20Manual\PARTS%20MANUAL%20REDESIGN\InDesign%20Testing\Test_A_PNs_Diffuser.indd

Return to Contents

Head Jamb/Sill Stationary Lock Bar Strike Plate - Sill Strike Plate, X, OX, XO
OO0, XO-R, OX-L, OO0, XOO/00X, OXO, XXO/OXX
NOTE: 2 1/2" screws to be used at head jamb only Configuration Color PN
X-R, XO-R, XOO-R ) 11862571
Stainless Steel
X-L, OX-L, OOX-L 11862572
PN
11862585 Suggested Fasteners PN
2 - #8 x 5/8” Phillips flat head
Suggested Fasteners PN Sta)?nless St;;r):cr:wsea 11805180
For Sill 4—#8>§5/8" Phillips flat head 11805180
Stainless Steel screws
2—#8>'<5/8" Phillips flat head 11805180
Stainless Steel screws
ForHead Jamb = 8 2 1/2” Phillips flat head
THOX. Nips flat head | 41800648
Stainless Steel screws
—
©)
@)
X
5
(@]
L
QO
Q.
=
QO
®
Stationary Strike Plate Ramp Stationary Lock Bar
Handing Color PN Color PN
LH . 108101 Stainless Steel | 11860229
Stainless Steel
RH 108102
Suggested Fasteners PN
_ 2-#8 x.2 1/2" Phillips flat head 11800648
Stainless Steel screws
)
J =
7
¢ ;

2025-08-25 Vivid Inswing French Door 22


file:T:\Parts%20Manual\PARTS%20MANUAL%20REDESIGN\InDesign%20Testing\Test_A_PNs_Diffuser.indd

Return to Contents

Stationary Jamb Panel Clip - O, OO Stationary Panel Clip - OO, OO0, OOX/XO0

Color PN
Black 10888165

Color PN
Black 11892602

Suggested Fasteners PN
2 - #8 x 5/8” Phillips pan

head screws 11800821
Jamb Filler Hole Plug Hinge Spacer Block
NOTE: Sold in packages of 10
Color PN
Color PN Stone White | 11860167 _Z
Stone White | 11892507 Pebble 11860166 %
Pebble 11892506 Bronze 11860165 D
Bronze 11892508 Ebony 11860184 =
Ebony 11892511 8
C
n
5
Q
O
wn
Strike Plate Backer Sill Drain Weep Air Dam, XX
Color PN Color PN !lncéUdebsl' )
- Dust bloc
Black 118407 Black | 15631215
Color PN

Stainless Steel | 11892603

2025-08-25 Vivid Inswing French Door 23


file:T:\Parts%20Manual\PARTS%20MANUAL%20REDESIGN\InDesign%20Testing\Test_A_PNs_Diffuser.indd

#8 x 5/8” Phillips Flat Head Screw

Usage:
Hinge kits

Strike plate - head jamb
Strike plate - locking jamb

Return to Contents

#8 x 2 1/2” Flat Head Screw

Usage:
Hinge Kits

Strike Plate - Jamb/Head Jamb

Stainless Steel

Component Color Pkch':lf 25 PN EA
White 11882723 | 11805155
Oil Rubbed Bronze | 41585794 | 11805156
Ebony
Satin Nickel 11882726 | 11805180

2025-08-25

Stainless Steel

Component Color Pkg of 25
PN
White 11882703
Oil Rubbed Bronze 11882704
Ebony
Satin Nickel 11882706

Vivid Inswing French Door

#8 x 1 1/2” Phillips Flat Head Screw

Usage:
Hinge kits
Multipoint screw

Component Color Pkg of 25
PN
White 11882713
Oil Rubbed Bronze 11882714
Ebony
Satin Nickel
Stainless Steel 11882716

A

I

Slaualse

24


file:T:\Parts%20Manual\PARTS%20MANUAL%20REDESIGN\InDesign%20Testing\Test_A_PNs_Diffuser.indd

Return to Contents

Astragal Cap

A2815
Color and Part Number
CN Length S
Height tone Pebble Bronze Ebony

White
19456765 | 19456865 | 19456965 | 19457565
19456768 | 19456868 | 19456968 | 19457568
19456770 | 19456870 | 19456970 | 19457570
19456780 | 19456880 | 19456980 | 19457580

6-5 751/4" (1911
6-8 77 3/4" (1975
7-0 813/4” (2076
8-0 91 1/4” (2318

)
)
)
)

Suggested Fasteners PN
12 - #8 x 5/8” Phillips A/Tek pan head screws | 11800498

>
C
3.
i)
Mull Post %
A2567 5
QO
3
n
Color and Part Number
CN Length Oper.
Height ' Stone Pebble Bronze Ebony

White
LH 19448165 | 19448265 | 19448365 | 19448965
RH 19448166 | 19448266 | 19448366 | 19448966
LH 19448168 | 19448268 | 19448368 | 19448968
RH 19448169 | 19448269 | 19448369 | 19448969
LH 19448170 | 19448270 | 19448370 | 19448970
RH 19448171 | 19448271 | 19448371 | 19448971
LH 19448180 | 19448280 | 19448380 | 19448980
RH 19448181 | 19448281 | 19448381 | 19448981

6-5 76 3/4" (1949)

6-8 79 1/4" (2013)

7-0 83 1/4” (2115)

8-0 92 3/4” (2356)

Suggested Fasteners PN
12 - #8 x 5/8” Phillips A/Tek pan head screws | 11800498

2025-08-25 Vivid Inswing French Door 25


file:T:\Parts%20Manual\PARTS%20MANUAL%20REDESIGN\InDesign%20Testing\Test_A_PNs_Diffuser.indd

Astragal Base - Exterior

A2571

CN Length Color LH RH
CN6-5 | 75 1/4”7(1911) 19449165 | 19449166
CN6-8 | 77 3/4” (1975) Black 19449168 | 19449169
CN7-0 | 81 3/4”(2076) ac 19449170 | 19449171
CN8-0 | 91 1/4"(2318) 19449180 | 19449181

Suggested Fasteners PN

13 - #8 x 5/8” Phillips pan head screws | 11800498

2025-08-25

Return to Contents

Vivid Inswing French Door

>
C
3.
]
(-
3
-
v
%

26


file:T:\Parts%20Manual\PARTS%20MANUAL%20REDESIGN\InDesign%20Testing\Test_A_PNs_Diffuser.indd

Stationary Jamb Retainer

V2547
Length Color PN
12" (305) Black 15916812

Sill Retainer, Stationary

Return to Contents

Sill Liner
V2736

NOTE: Foam sealant tape included

Color and Part Number
CN Width Length -

Beige PN Black PN
2-6 305/16" (770) 11891526 11891426
2-8 325/16" (821) 11891528 11891428
3-0 36 5/16" (923) 11891530 11891430
5-0 59" (1499) 11891550 11891450
5-4 63" (1600) 11891554 11891454
6-0 71" (1803) 11891560 11891460

V2460
CN Length Color PN
2-0/4-0/6-0 (3W) width | 16" (406) 15918760
2-6/5-0/7-6 (3W) width | 22" (559) Black 15918776
2-8/5-4/8-0 (3W) width | 24" (610) 15918780
3-0/6-0/9-0 (3W) width | 28" (711) 15918790

2025-08-25

Vivid Inswing French Door

<
)
=
-
)
3
0

27


file:T:\Parts%20Manual\PARTS%20MANUAL%20REDESIGN\InDesign%20Testing\Test_A_PNs_Diffuser.indd

Return to Contents

Weather Strip Sill Weather Strip
V2350 V2026
NOTE: Weather strip has square end cuts. NOTE: Weather strip has notched ends.
Head Jamb CN Width Length Beige PN | Black PN
CN Width Length Black PN 2-0 22 15/16" (583) 11208820 | 11208920
2-0 211/32" (534) 15971020 2-6 28 15/16” (735) 11208826 | 11208926
2-6 27 1/32” (687) 15971026 2-8 30 15/16” (786) 11208828 | 11208928
2-8 291/32"(737) 15971028 3-0 34 15/16" (888) 11208830 | 11208930
3-0 33 1/32” (839) 15971030 4-0 45 5/8" (1159) 11208840 | 11208940
4-0 43 23/32"(1110) | 15971040 5-0 57 5/8" (1464) 11208850 | 11208950
5-0 5523/32" (1415) | 15971050 5-4 615/8" (1565) 11208854 | 11208954
5-4 5923/32" (1517) | 15971054 6-0 69 5/8" (1768) 11208860 | 11208960
6-0 67 23/32”" (1720) | 15971060 6-0 (3W) 68 3/8" (1737) 11208360 | 11209360
6-0 (3W) 66 15/32" (1688) | 15971360 7-6 (3W) 86 3/8" (2194) 11208376 | 11209376 E
7-6 (3W) 8415/32" (2145) | 15971376 8-0 (3W) 92 3/8" (2346) 11218380 | 11219380 8
8-0 (3W) 90 15/32"(2298) | 15971380 9-0 (3W) 104 3/8” (2651) 11208390 | 11209390 =
9-0 (3W) 102 15/32” (1720) | 15971390 (_2
Jamb L:/)
CN Height Length Black PN 5
6-5 76 25/32" (1950) | 15971065
6-8 79 9/32" (2014) 15971068
7-0 83 9/32" (2115) 15971070
8-0 92 25/32"(2357) | 15971080
Astragal/Mull Post
CN Height Length Black PN
6-5 751/4" (1911) 15971165
6-8 77 3/4" (1975) 15971168
7-0 81 3/4” (2076) 15971170
8-0 911/4" (2318) 15971180

2025-08-25 Vivid Inswing French Door 28


file:T:\Parts%20Manual\PARTS%20MANUAL%20REDESIGN\InDesign%20Testing\Test_A_PNs_Diffuser.indd

Return to Contents

Dust Block, Stationary Lock Bar/Astragal Air Dam

Color PN
Gray 15600010

D
Q
=
>
)
Y
w
—+
.
©
U
C
n
i
W
O
0O
~
wn
~
"
()
L
n
~
J
c
Q
wn

2025-08-25 Vivid Inswing French Door 29


file:T:\Parts%20Manual\PARTS%20MANUAL%20REDESIGN\InDesign%20Testing\Test_A_PNs_Diffuser.indd

Swinging Screen Replacement

Screens are standard with a color matched aluminum surround. Standard mesh is Marvin Bright View™. Determine the outside measurement of the exist-
ing screen. Find the sizes that correspond to the width and height indicated on the following chart.

Ordering specifications (use all that apply):

1. Size; if there is no existing screen from which to obtain the OM of the screen, determine the size of the screen by using the conversion chart below.
The daylight opening is the measurement of the visible glass.
2. Handing

3. Exterior color

NOTE: Swinging screens are available in X and XX configurations. Replacement swinging screens contain the following components: installation instruc-
tions, handle kit, closure kit, bottom expander and sweep, head jamb, hinge—jamb and latch—jamb z bar. XX configurations also include astragal kit.

)
=
D
Q
]
«Q
w
@)
-
D
Screen Sizes for Inswing French Door (:—)D
Daylight Opening to OM of Screen (;DU
Daylight Opening Width + 7 7/32" (183) O
= OM Width of Screen Q
Daylight Opening Height +5 3/16" (259) 8
= OM Height of Screen 3
Width %
CN Size X - OM Width XX - OM Width "I'*'
2-6 28 15/32" (723) N/A @)
2-8 30 15/32” (774) N/A ©
3-0 34 15/32" (876) N/A 5
4-0 N/A 22 1/8" (562) E
5-0 N/A 281/8" (714) 8_
5-4 N/A 30 1/8" (765) oy
6-0 N/A 34 1/8" (867) %_
Height 5
CN Size OM Height O
6-5 77 7/32" (1961) z
6-8 79 23/32" (2025) 0
7-0 83 23/32"(2126)
8-0 93 1/47/32" (2368)

2025-08-25 Vivid Inswing French Door 30


file:T:\Parts%20Manual\PARTS%20MANUAL%20REDESIGN\InDesign%20Testing\Test_A_PNs_Diffuser.indd

Return to Contents

Handle Kit, Complete Screen Door Closer Kit
Includes: Includes:
Latch handles and related parts, Cylinder brackets, pins, hold—open washer,
Z—-bar mounting screws and installation instructions screws and installation instructions.
Color PN PN
Black 11880143 11901971
: o N
SR
@2
=
>
Q.
5
(@]
W
Q
Shoot Bolt Receiver, Swinging Screen Mounting Plate, Closer Bracket, 3
4 9/16” and 6 9/16” Swinging Screen >
-
©
:nCILUd_es' Color PN a
- Receiver
1 - Dust Block Black 11860177
Color PN

Black 11892604

2025-08-25 Vivid Inswing French Door 31


file:T:\Parts%20Manual\PARTS%20MANUAL%20REDESIGN\InDesign%20Testing\Test_A_PNs_Diffuser.indd

Return to Contents

Pile, Door Screen Replacement, Swinging Screen

PN
10600251

Vinyl Sweep
1/8" x 3/4” x 36"

Color PN

Black 11860160

2025-08-25

Vivid Inswing French Door

Screen Dust Block

17/32" x7/8" x 1/2"
(13x22x13)

NOTE: Adhesive backed

Color PN

Gray 10500161

w
=
-
Q
-
(@]
w
0
-
)
)
5
e
o)
3
n

32


file:T:\Parts%20Manual\PARTS%20MANUAL%20REDESIGN\InDesign%20Testing\Test_A_PNs_Diffuser.indd

Return to Contents

Bottom Expander

Color and Part Number
Stone White Pebble Bronze Ebony
4-0 229/16"(573) | 17037040 17017140 | 17037140 | 17037540
2-6/5-0 28 9/16" (726) 17037026 17017126 | 17037126 | 17037526
2-8/5-4 | 309/16"(776)| 17037028 17017128 | 17037128 | 17037528 l_m_‘
(878)

CN Width Length

3-0/6-0 |34 9/16" (878 17037031 17017131 | 17047169 | 17047133

@2
=
>
Q.
5
Swinging Screen Astragal Kit W
O
Includes: ®
. . . Q)
Astragal, vinyl trim pieces, shoot bolt assembly, 4 9/16 shoot bolt S
receiver with dust block, 6 9/16 shoot bolt receiver, and screws ay
©
i
n
. Color and Part Number
CN Height Length -
Stone White Pebble Bronze Ebony
6-5 77 7/32" (1962) 11960965 11960865 | 11960765 | 11961265
6-8 79 23/32"" (2025) 11960968 11960868 | 11960768 | 11961268
7-0 88 23/32"(2127) 11960870 11960770 | 11960671 | 11961270
8-0 937/32" (2368) 11960980 11960880 | 11960780 | 11961280

2025-08-25 Vivid Inswing French Door 33


file:T:\Parts%20Manual\PARTS%20MANUAL%20REDESIGN\InDesign%20Testing\Test_A_PNs_Diffuser.indd

Head Jamb Screen Z-Bar

A1308

Return to Contents

NOTE: Head jamb screen Z-bars have 45 degree cuts on both ends (non handed).

#8 x 5/8” Phillips flat head screws | 11805180

3 on 3-0 and under, 4 on 4-0 and over

2025-08-25

CN Width Length Co.lor and Part Number
Stone White Pebble Bronze Ebony
2-6 29 11/16" (754) 17037226 17017326 | 17047226 | 17047526
2-8 3111/16" (805) 17037228 17017328 | 17047228 | 17047528 | |
3-0 3511/16" (906) 17037231 17017331 | 17047231 | 17047531 l J
4-0 46 3/8" (1178) 17037240 17017340 | 17047240 | 17047540 I
5-0 58 3/8" (1483) 17037250 17017350 | 17047250 | 17047550 \EE/
5-4 62 3/8"(1584) 17037254 17017354 | 17047254 | 17047554
6-0 70 3/8"(1788) 17037260 17017360 | 17047260 | 17047560
Suggested Fasteners PN

Vivid Inswing French Door

w
2.
)
Q
S
(@]
w
O
)
()
()
>
-
)
I
n

34


file:T:\Parts%20Manual\PARTS%20MANUAL%20REDESIGN\InDesign%20Testing\Test_A_PNs_Diffuser.indd

Return to Contents

Jamb-Hinge Screen Z-Bar
A1308

NOTE: Jamb-Hinge screen Z-bars have 45 degree cuts on one end and square
cuts on the other. Handing is determined from the exterior. Left hand shown.

CN . Color and Part Number
. Length Handing -
Height Stone White Pebble Bronze Ebony
65 78 9/16” LH 18037266 18017366 | 18047266 | 18047866
(1995) RH 18037265 18017365 | 18047265 | 18047865
68 811/16” LH 18037269 18017369 | 18047269 | 18047869
(2059) RH 18037268 18017368 | 18047268 | 18047868
2.0 851/16”" LH 18037271 18017371 | 18047271 | 18047871
(2167) RH 18037270 18017370 | 18047270 | 18047870 N
8.0 94 9/16" LH 18037281 18017381 | 18047281 | 18047881 §
(2402) RH 18037280 18017380 | 18047280 | 18047880 &3}
=
Suggested Fasteners PN - - «Q
#8 x 5/8” Phillips flat head screws | 11805180 | | —  E—— &
8 - Frame Size < 87 15/16” \ " | " " . M
10 - Frame size =< 87 15/16” | S ———| <
o
Q
3
wn

2025-08-25 Vivid Inswing French Door 35


file:T:\Parts%20Manual\PARTS%20MANUAL%20REDESIGN\InDesign%20Testing\Test_A_PNs_Diffuser.indd

Return to Contents

Jamb-Latch Screen Z-Bar
A1308

NOTE: Jamb-Hinge screen Z-bars have 45 degree cuts on one end and square
cuts on the other. Handing is determined from the exterior. Left hand shown.

CN ) Color and Part Number
Hei Length Handing -

eight Stone White Pebble Bronze Ebony

- 78 9/16" LH 18037466 | 18017566 | 18047466 | 18047966
(1995) RH 18037465 | 18017565 | 18047465 | 18047965

o8 811/16" LH 18037469 | 18017569 | 18047469 | 18047969 ° ° ° ° ° _lJ
(2059) RH 18037468 | 18017568 | 18047468 | 18047968

: LH 18037471 | 18017571 | 18047471 | 18047971 l 1l ) 1l 1—!

7-0 85 1/16 e’
(2161) RH 18037470 | 18017570 | 18047470 | 18047971

6.0 94.9/16" LH 18037481 | 18017581 | 18047481 | 18047981
(2402) RH 18037480 | 18017580 | 18047480 | 18047980

Suggested Fasteners PN

#8 x 5/8” Phillips flat head screws | 11805180

8 - Frame Size < 87 15/16”
10 - Frame size =< 87 15/16”

w
2.
)
Q
S
(@]
w
O
)
()
()
>
-
)
I
n

2025-08-25 Vivid Inswing French Door 36


file:T:\Parts%20Manual\PARTS%20MANUAL%20REDESIGN\InDesign%20Testing\Test_A_PNs_Diffuser.indd

Sliding Screen Replacement

Screens are standard with a color matched aluminum surround. Determine the outside measurement of the
existing screen. Find the sizes that correspond to the width and height indicated on the following chart.

Ordering specifications (use all that apply):

1. Size; if there is no existing screen from which to obtain the OM of the screen, determine the size of the
screen by using the conversion chart below. The daylight opening is the measurement of the visible
glass.

2. Handing
3. Exterior color

D)
o
5
Q
W
@)
D
D
5
X
D
Screen Sizes for Inswing French Door O
Q
Daylight Opening to OM of Screen 8
Daylight Opening Width + 4 3/16” (106) 3
= OM Width of Screen D
Daylight Opening Height + 5 3/16” (132) >
= OM Height of Screen .
Width @)
CN Size OM Width <
” :'-)
5-0, 7-6 29 3/16 e
5-4, 8-0 313/16” E
6-0, 9-0 353/16" o
Height U
CN Size OM Height S
6-5 77 3/64” =
6-8 79 35/64" @)
7-0 83 35/64” <
”n m
8-0 93 3/64

2025-08-25 Vivid Inswing French Door 37


file:T:\Parts%20Manual\PARTS%20MANUAL%20REDESIGN\InDesign%20Testing\Test_A_PNs_Diffuser.indd

Return to Contents

Screen Handle Assembly Screen Roller Guide
Includes: V2932
1 - Exterior handle - A
1 - Interior handle - B Color CN PN
1-Slide-C 5-0 15918851
1-Latch-D Black 6-0/9-0 15918861
3 -Screws 8-0 15918881
1 - Rivet

Color PN

Black 10150028

%2
ol
(A) >
(@]
w
Q
D
D
>
-
)
. . 3
Screen Roller Track Dust Block Screen Door Strike Kit @
7/8" x 7/8" x 3/16” Includes:
NOTE: Adhesive backed, located behind the screen roller bar 1 - #8 x 5/8” Phillips pan head screw
Color PN PN
Gray 10500143 11897165

—

2025-08-25 Vivid Inswing French Door 38


file:T:\Parts%20Manual\PARTS%20MANUAL%20REDESIGN\InDesign%20Testing\Test_A_PNs_Diffuser.indd

Return to Contents

Screen Pile Weather Strip, Sliding Screen Screen Roller Assembly
Includes:
PN 2 - Rollers
10600252 2 - Machine screws

2 - Grommmet washers

PN
11869525

&

o)
o
5
Q
Screen Stop Astragal Base, OXO, XOO/O0X N
@)
A362 D)
Q)
5
CN Height Length Handing | Stone White | Pebble Bronze Ebony &U
LH 18916222 18916232 | 18916242 | 18916472 —~
6-5 76 23/32" (1949) wn
RH 18916122 18916132 | 18916142 | 18916372
LH 18916223 | 18916233 | 18916243 | 18916473
6-8 79 7/32"(2012)
RH 18916123 18916133 | 18916143 | 18916373
LH 18916224 18916234 | 18916244 | 18916474
7-0 837/32"(2114)
RH 18916124 18916134 | 18916144 | 18916374
LH 18916225 18916235 | 18916245 | 18916475
8-0 92 23/32" (2355)
RH 18916125 18916135 | 18916145 | 18916375

2025-08-25 Vivid Inswing French Door 39


file:T:\Parts%20Manual\PARTS%20MANUAL%20REDESIGN\InDesign%20Testing\Test_A_PNs_Diffuser.indd

Return to Contents

Head Jamb Screen Track
A1237

Includes:

1- Head jamb screen track
6 - #8 x 5/8" Phillips self tapping pan head screws (11806158)

CN Width Length Stone White Pebble Bronze Ebony
5-0 57 31/64” (1460) | 18547250 | 18547350 | 18547150 | 18546850
5-4 6131/64" (1562) | 11897166 | 11897167 | 11897168 | 11897171

6-0 69 31/64" (1765) 18547255 18547355 | 18547155 | 18546855
7-6 57 1/32" (1449) 10888176 | 10888276 | 10888376 | 18547861
8-0 61 1/32" (1550) 10888180 | 10888280 | 10888380 | 18547862
9-0 69 1/32" (1753) 10888190 10888290 | 10888390 | 18547863
o)
c
>
Q
W
O
®
)
D
o
Q)
=
wn
Screen Stop Astragal Cap, OXO, XOO/00X
A361
CN Height Length Stone White | Pebble Bronze Ebony
6-5 77 59/64" (1979 18541165 18542265 | 18543365 | 18549965

18541168 18542268 | 18543368 | 18549968
18541170 18542270 | 18543370 | 18549970
18541180 18542280 | 18543380 | 18549980

6-8 80 27/64" (2043
7-0 84 27/64" (2144
8-0 93 59/64" (2386

= [ | | =

2025-08-25 Vivid Inswing French Door 40


file:T:\Parts%20Manual\PARTS%20MANUAL%20REDESIGN\InDesign%20Testing\Test_A_PNs_Diffuser.indd

Return to Contents

Ordering specifications (use all that apply):

1. Original order number/line number (if available)
2. Size
3. Operator or stationary
4. Handing
5. Exterior color
6. Interior finish
7. Glazing Vivid Inswing French Door
NOTE: Operating panel.s include muI’Fi—point chk assembl.y Daylight Opening to Panel OM
ZTaC’I[eV.VOOd backers. Stationary panels include hinges or strike Daylight Opening Width + 7 1/4” (181) ;)U
= OM Width of Panel D)
NOTE: Daylight opening is the measurement of visible glass Daylight Opening Height + 9 5/8” (244) D
NOTE: Panel is not reglazable; replacement glass will require a = OM Height of Panel AJ
new panel. Width %
CN Size OM Width O
2-0 2219/32” (574) e
2-6 28 19/32" (726) Daylight 3
opening )
2-8 3019/32"(777) height 3
3-0 34 19/32" (879) .
5-0 28 19/32" (726) -
5-4 3019/32"(777) ':’)h
6-0 34 19/32" (879) (@)
6-0 (3W) 22 19/32" (574) %
7-6 28 19/32" (726) o
8-0 3019/32"(777) ;)U
9-0 34 19/32" (879) —~+
Height =)
CN Size OM Height @)
6-5 76 23/32" (1949) §
6-8 79 5/16" (2015) Daylight
7-0 837/327(2114) opening
width
8-0 92 23/32" (2355)

Exterior View
(Operator panel shown)

2025-08-25 Vivid Inswing French Door a1


file:T:\Parts%20Manual\PARTS%20MANUAL%20REDESIGN\InDesign%20Testing\Test_A_PNs_Diffuser.indd

	Product History
	Vivid Usage in OMS Retail
	Part Identification – Single Panel – Stationary
	Part Identification – Single Panel Operator  with Swinging Screen
	Part Identification – XX Operator  with Swinging Screen
	Part Identification – 2 Panel Operator XO/OX  with Sliding Screen
	Part Identification – 2 Panel Stationary – OO
	Part Identification – Operator  – 3 Panel Jamb Details
	Installation Parts
	Handles
	Hinge Handing Location
	Hinges
	Locking Hardware
	Miscellaneous Parts
	Fasteners
	Aluminum Parts
	Vinyl Parts
	Weather Strip
	Weather Strip: Dust Blocks/Seals/Plugs
	Swinging Screen Replacement - Configured Part in OMS
	Swinging Screen Parts
	Sliding Screen Replacement  - Configured Part in OMS
	Sliding Screen Parts
	Panel Replacement - Configured Part in OMS

	Return to Contents14: 
	Page 2: 
	Page 3: 
	Page 4: 
	Page 5: 
	Page 6: 
	Page 7: 
	Page 8: 
	Page 9: 
	Page 10: 
	Page 11: 
	Page 12: 
	Page 13: 
	Page 14: 
	Page 15: 
	Page 16: 
	Page 17: 
	Page 18: 
	Page 19: 
	Page 20: 
	Page 21: 
	Page 22: 
	Page 23: 
	Page 24: 
	Page 25: 
	Page 26: 
	Page 27: 
	Page 28: 
	Page 29: 
	Page 30: 
	Page 31: 
	Page 32: 
	Page 33: 
	Page 34: 
	Page 35: 
	Page 36: 
	Page 37: 
	Page 38: 
	Page 39: 
	Page 40: 
	Page 41: 



